
NAME _______________________________________________________________   DATE  ________________________

edubuzzkids.com  c   2015. All Rights Reserved.

MAKE A TEN TO ADD WITH IN 20

Addition using a suitable strategy do the following word problems.

1)  Jennifer has 9 markers at school and 6 at home and Orlando has 7 markers at 

     school and 8 at home.

a)  How many markers does Jennifer have?

b)  How many markers does Orlando have?

Markers with Jennifer at school =  __

Markers with Orlando at school =  __

Jennifer have ___ markers.

Orlando have ___ markers.

At home =  __

At home =  __

Total =  9  +  6

Total =  7  +  8

=  ___ + 5  =  ___

=  10  +  5  =  15
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